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Demonstrate that the velocity vector at any time is tangent to the circular path for an
object in uniform circular motion. 9 JEA\JJQ' - 12 4w
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Define the centripetal/central force. 18 J!5« -- 15-13 i=iw
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Relate the centripetal acceleration to the object’s speed and the radius of the circular
path (ac=v2/r). 57 3 56 Jl5m ...23 dmin
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NOTES

Explain Kepler's Third Law which states that the square of the ratio of the periods of any
two planets revolving about the Sun is equal to the cube of the ratio of their average
distances from the Sun and write it in equation form ((TA/TB)2=(rA/rB)3). 48 - 32 aod
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Explain Kepler's Third Law which states that the square of the ratio of the periods of any

two planets revolving about the Sun is equal to the cube of the ratio of their average

distances from the Sun and write it in equation form ((TA/TB)2=(rA/rB)3).

48 - 32 4

S guadllalis -

-2 3
| ==
s Grnt-
L
= —=




NOTES date /

Explain Kepler's Second Law which states that an imaginary line from the Sun to a planet
“sweeps out equal areas in equal time intervals. 3 1 .
S V-7
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“Justify Kepler's Third Law by using Newton's Second Law of motion and Newton's Law for
_universal gravitation. 34 dio
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Apply the law of universal gravitation to calculate the gravitational force or other
“unknown parameters. 48 i
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Define a radian and convert degrees to radians and vice-versa
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_Define a radian and convert degrees to radians and vice-versa _ _ _ —
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‘Define a radian and convert degrees to radians and vice-versa
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Relate the linear velocity (v) to the angular velocity { ) and the distance (r) from the

axis of rotation
@

Apply the relationship between average angular acceleration, change in angular

velocity, and the time interval for that change

=2 ”» .
Apply the relationship between angular displacement and the initial and final 5 9 N
angular positions
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